
CP-Violation Discovery Contours – LAr (opt) – 1.4× 1021 Baseline: L = 1900 km

log(sin22θ13)

δ

L=1900

04
05
06
07

-5 -4 -3 -2 -1
-180

-90

 0

 90

 180

log(sin22θ13)

δ

L=1900

08
09
10
11

-5 -4 -3 -2 -1
-180

-90

 0

 90

 180

log(sin22θ13)

δ

L=1900

12
13
14

-5 -4 -3 -2 -1
-180

-90

 0

 90

 180

log(sin22θ13)

δ

L=1900

15
16
17
18

-5 -4 -3 -2 -1
-180

-90

 0

 90

 180

log(sin22θ13)

δ

L=1900

19
20
21
22

-5 -4 -3 -2 -1
-180

-90

 0

 90

 180

log(sin22θ13)

δ

L=1900

23
24
25

-5 -4 -3 -2 -1
-180

-90

 0

 90

 180
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